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e (i) FYFYH G E, 997 8 5 ara & I AT |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) X% J97 % T4 YT ) FHTR T G §T Ford |
Solve all parts of a question consecutively together.
(iii) A% T F) 79 98 & JRE Ffd |
Start each question on fresh page.
(iv) 1 NT9IsT 7 Si g7 1 It & 3 e 8 A 8 |
Only English version is valid in case of difference in both the languages.
1. () fem wyr s ofonfia Hifve |
Define Irrigation load.
(i) o9 BE & 9 T EHIA B ?
What do you mean by depreciation cost ?
(i) FAEITH oIt i gftHTRa i |
Define Interconnection system.
(iv) Ha BRI H H 3 et 39T & A1 fafau |
Write the name of equipments used in converter station.
(v) =3 Sreear .. yorrelt Y gifaaf fafkag |
Write the disadvantages of HVDC system. (2%5)
2. (i) 3muR 9R 3N et wrow fag ) gera @ aweme |
Explain Base load and Peak load with the help of a diagram. i (3+3)
(i) ¥R TafY I3 3TN FIcTshiie WK o5 ! a3 6 garar @ g9z |

Explain the load duration curve and chronological load curve with the help of a
diagram. (3+3)
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3 % T bR 3 w9 3 i e frefon e |

Explain the spot pricing as a type of Tariff. A3)
sedi am e s wn e ? '

e i JUNIHT 1 TEE W 100%312% | Frfereham TiT 60 fopet 91 B,
Iitgas Ta% A3iA & % 50 wiowa g % forg werdt R @ miftes form =< T
#ifsg, afe w78 2

Z 600 + % 70 wfer Jfershem =i & forg + 210 wfd e (kWh)

What is Doherty demand rate Tariff ?

An Industrial consumer has connected load of 100 kW. The maximum demand is
60 kW of an average each machine works for 50 percent of time. Calculate the
monthly expenditure on electricity, if the tariff is :

Z 600 + T 70 per kW of maximum demand + ¥ 10 per kWh (unit) 3+6)

Tk 1ok 1 wftaiva i | wifs ok gaEm % @ fafa |
Define the power factor. Write advantages of power factor improvement. (3+3)

T 60 Fpent are i Rrea SO Hiet 0.8 wrETH WRE o W = @ 2 | 3wt

T 1w 0.9 L fean S ot kVA WR et w5+t 2ft, s <hifor |

An Induction motor of 60 kW is operated on 0.8 Lagging power factor. If power
factor is improved upto 0.9, then calculate the reduction in kVA demand. (6)

fort e 37R 31T et i S na frarsfier wiite 1 savassar &1 wEssT |
Explain reactive power requirement during peak load and off peak load hours.

FdEIS el o TR I AHSET |

Explain various types of inter-connected systems. (6x2)
Syoft Henfa wa v FUTRE 3 HEATeH o foTu € w5 &1 S8 | 9vi Hif |
Describe in brief selection of location of series capacitor and shunt capacitor
installation.

SRR 3 IR W 3w alads’ fafty gro dieear fFramor w5t @asms |

Explain the voltage control of transformer by ‘on load tap changing’ method. (6x2)
EHV 3t UHV =g feomea & amararefia wmai 1 awsmse |

Explain environment aspects in EHV and UHV line design.

EHV 15 3 v &t 3R %! 93T |

Explain radio noise from EHV lines. (6x2)

fiw fareeo et -

Write short notes on :

®
(i)

0T ufsha 3 3Eh! TIfed A aTet HH
Phenomenon of corona and factors affecting corona
= dieear SHT. yomedt &1 @it

Classification of HVDC system

(i) SVS wonferat (wdfes VAr. yonferar)

SVS Systems (Static VAr. Systems) (4x3)



